Homework 8A: Mesh and Node with Dependent Sources

Mesh Current

17-11.
Find the mesh currents in the circuit below.
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17-12.
Find the mesh currents in the circuit below.
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17-13.
Find the mesh currents in the circuit below.
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Node Voltage

17-17. Determine the nodal voltages for the network given below.
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17-20. Determine the nodal voltages for the network given below.
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17-21. Write the nodal equations for the network given below and find the voltage across the 1K(.
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17-23. Write the nodal equations for the network given below and find the voltage across the 2K(.
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